To find different ways to make the same amount

Hinge Question:

Which coins can go in the empty box?
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To find different ways to make the same amount

Starter:
True or False.

The amount circled below is £7 and 74p?

Answers
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To find different ways to make the same amount

Starter:
True or False.

The amount circled below is £7 and 74p?

False. The amount circled is £7 and 54p.

Answers
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To find different ways to make the same amount

Match the amounts.

Answers
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To find different ways to make the same amount

Match the amounts.

Answers
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To find different ways to make the same amount

Guided Practice:

Complete the part-whole models:

@ 10p @

Answers
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To find different ways to make the same amount

Independent Practice:
1. Complete the part-whole models.

£2 and
30p
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To find different ways to make the same amount

Guided Practice:
Make 55p three ways using the coins below.

You can use the coins more than once.

Answers
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To find different ways to make the same amount

Guided Practice:
Make 55p three ways using the coins below.

You can use the coins more than once.

Various answers.

For example:

50p + 5p
20p + 20p + 10p + 5p
10p +10p + 10p + 20p + 2p + 2p + 1p
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To find different ways to make the same amount

Independent Practice:

3. How many ways can you make 12p only using copper coins?

Did you use a strategy?
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To find different ways to make the same amount

Let’s Reflect:

Can you complete the spider diagram by finding 6 more ways to make 50p in coins?

S50p
20p+ 20p + 10p

S50p

Answers
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To find different ways to make the same amount

Let’s Reflect:

Can you complete the spider diagram by finding 6 more ways to make 50p in coins?

S50p
20p + 20p + 5p + 5p 20p+ 20p + 10p
200+ 10p + 10p + 500 10p + 10p + 10p + 10p
op + 9P + 10p
20p + 10p + 5p + 200+ 10p + 10p + 10p

S SRS IR 20p + 10p + 5p + 5p

+5p+20+2p+ 1p

Answers
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